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4-1-18 ] T 3 &
B ] T > ;2 (Method of Least Squares) # &% F{8 -
PR E AR G oo E o ﬁ‘x%ﬁaii Fedp 1 i

Aeif B oS TR EE (X.,Y) 2 MAEE T S ok B o
\?(Xi):a+in
n n 2
Z[Yi—\?(xi)]z =LY (@+bx)]
¥ ¥tay b_B"" e o 2R ?éé_éf e AR E 0 BT
= 3V

Zn:Yi =na-+ bzn: X,
i~1 i1

n

DX, = azn: X, +bzn: X,
i=1 i=1

i=1




o N XY ->X>Y
Y X*-(3 X)?

a=2(LY-bYX)

F1X=(XX)/n 2 QYV)n 5 v

" o a1 simmmmsiss a0 R

BT Rl B T R
[ X

! Yy XY X?
1 2 66 132 14
2 19 77 1,463 361
3 6 37 222 36
4 23 106 2,438 529
5 10 55 550 100
6 23 89 2,047 529
7 9 52 468 81
8 30 128 3,840 900
9 18 63 1,134 324
10 25 104 2,600 625
11 19 76 1,444 361
12 2 44 88 4
13 27 97 2,619 729
14 28 109 3,052 784
15 8 40 320 64
16 29 124 3,596 841
17 29 98 2,842 841
18 16 63 1,008 256
19 33 131 4,323 1,089
20 3 41 123 9
21 34 11 3774 1,156
22 32 151 4,832 1,024
23 13 76 988 169
24 33 114 3,762 1,089
25 35 143 5005 1,225
506 2,195 52,670 13,130
=X =Y =Y XY =y x?

x =296 _ 5024 v- % =8780 s, =1097 s, =3399
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Y -Y(X)e b4 % 221 pap gk (32,151) - t"—*’}:\ﬂﬁﬁ?
PR 2 EE YL

Y,, = Y(32) =151-121.4 = 29.6(})

F R EE AL AT R MG T F AR B R
(Error) i& o

TAEukREE
BEIER Y
2 22 [EEHE
Y =151
150 F :
9(32} = 121.4 Y-Y(32) =296
100

i‘\’(X ) = 30.04 + 2.854X
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2% (' Standard Error of the Estimate )
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[ REIN T ST fﬁfﬁfﬁi'%’ifﬁﬁ Y(X)= R R
i X Y 3004 +2854X Y-Y(X) [Y-Y(X)

1 2 66 35.7 30.3 918.09
2 19 77 84.3 -7.3 53.29
3 6 37 47.2 -10.2 104.04
4 23 106 95.7 10.3 106.09
5 10 55 58.6 -3.6 12.96
6 23 89 95.7 -6.7 44.89
7 9 52 55.7 -3.7 13.69
8 30 128 115.7 12.3 151.29
9 18 63 81.4 -18.4 338.56
10 25 104 101.4 2.6 6.76
11 19 76 84.3 -8.3 68.89
12 2 44 35.7 8.3 68.89
13 27 97 107.1 -10.1 102.01
14 28 109 110.0 -1.0 1.00
15 8 40 52.9 -12.9 166.41
16 29 124 112.8 11.2 125.44
17 29 98 112.8 -14.8 219.04
18 16 63 75.7 -12.7 161.29
19 33 131 124.2 6.8 46.24
20 3 41 38.6 2.4 5.76
21 34 111 127.1 16.1 259.21
22 32 151 1214 29.6 876.16
23 13 76 67.1 8.9 79.21
24 33 114 124.2 -10.2 104.04
25 35 143 129.9 131 171.61

-0.2 4,204.86

4,204.86
Sy.x = =1352
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2 AR LB

.- S(X-X) Xt -(Zx)/n

n-1 n-1
S, = (YY) [Evr-(Zv)m
v n-1 n—1
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¥(X)

(a) SERIERMERRr = +1

) 4

(c) FIEFRIEMITR r = +0.97

Yox)

(b) SEREFRMERGRr = -1

(d) BERIERFR r = 061
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Z(X -X (Y —\7)=ZXY -nXY

B {o AP B R Bcet B 5N G

)XY -nXY
(N-1)g s,
A A
> XY —nXY

Zx-T g -]
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FoBp RETHRFST AT A

Y =a+bX +b,X,

N N N e 11 DA Lt S

bE%ﬁiﬁ’Y‘Yi‘}v’frﬁ,«y y G
(Y-¥)? =3 [Y-(a+bX, +b,X,)]

e A W N Ha bg b s 4

DY =na+b> X, +b,> X,
SXY =aY X, +b Y X, +b, Y X, X,
XY =aY X, +5 Y XX, +b, 3 X,
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SRPEE (mpg) Y S ARRD X, T ISR (mph) X,

~No ok~ wnN e

24.8 88 52
30.6 93 60
31.1 91 58
28.2 90 52
31.6 90 55
29.9 89 46
31.5 92 58
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44 (1]®)
FORE O MNIETE (mpg) Y S SREN X, TSR (mph) X,
8 27.2 87 46
9 33.3 94 55
10 32.6 95 62
11 30.6 88 47
12 28.1 89 58
13 25.2 90 63
14 35.0 93 54
15 29.2 91 53
16 31.9 92 52
17 27.7 89 52
18 31.7 94 53
19 34.2 93 o4
20 30.1 91 58
20
" J
ﬂ&?ﬂ;ﬂ.ﬁ Y(X,) = -51.6 + 9X, ﬁiﬁ?fgﬁ
35 35 s
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90 95 45 50 55 60 65
Zitek FHEH
@r=7 S eam (b) ry, = .081
X,
B LN ]
% - {' E =
0i4ﬂmhuumnhnd X,
45 50 55 60
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© ry=.53
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LB apd oY Y < f 5 A& £ (Residuals) -
X R ) Z(Y —Y)2 rip g0V

* R e B iy o
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= At
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%EZ EEENEBAEREEZNGER

4 i M R HEE T
Y Y% Y — (Y -Y)?
24.8 27.34 -2.54 6.4516
30.6 31.26 -0.66 0.4356
31.1 29.39 1.71 2.9241
28.2 29.70 -1.50 2.2500
31.6 28.96 2.64 6.9696
29.9 30.00 -0.10 0.0100
31.5 30.57 0.93 0.8649
27.2 27.65 -0.45 0.2025
33.3 33.67 -0.37 0.1369
32.6 33.12 -0.52 0.2704
30.6 28.58 2.02 4.0804
28.1 27.04 1.06 1.1236
25.2 26.98 -1.78 3.1684
35.0 32.74 2.26 5.1076
29.2 30.63 -1.43 2.0449
31.9 32.06 -0.16 0.0256
27.7 28.52 -0.82 0.6724
31.7 34.17 -2.47 6.1009
34.2 32.74 1.46 2.1316
30.1 29.39 0.71 0.5041
604.5 604.51 -0.01 45,4751
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[ |
% IEEY - AEnEBER

MNPEIE (mpg) 5k EN TSI (mph) %EFJ(’F‘%“)
Y X X X,

i
B
el

2

24.8 88 52 646
30.6 93 60 465

31.1 91 58 359
28.2 90 52 665
31.6 90 55 214
29.9 89 46 606
315 92 58 458
27.2 87 46 957
33.3 94 55 605
32.6 95 62 407
30.6 88 47 259
28.1 89 58 423
25.2 90 63 596
35.0 93 54 286
29.2 91 53 612
31.9 92 52 399
27.7 89 52 444
31.7 94 53 697
34.2 93 54 376
30.1 91 58 363

O©ooO~NOo ol wWwN -

NP R RPRRPRRPRPERRR R
CLOWoOW~NoOoUhWNREO

. GASOLINE MILEAGE DATA
Model: MODEL1
Dep Variable: MILEAGE
Analysis of Variance
Sum of Mean
Source DF Squares Square F Value Frob>F
Model 3 134.59603 44.86534 B3.070 0.0001
Error 16 B.64147 0.54009
C Total 19 143.23750
Root MSE Sy 0.73491 _ R-Square 0.9397
Dep Mean 30.22500 ¥ 2Adj R-5q 0.9284
C.V. 2.43146
Parameter Estimates
Parameter Standard T for HO:
Variable DF Estimate Error Parameter=0 Prob > ITI
INTERCEP 1 -59.004933 a 7.09881835 -8.312 0.0001
OCTANE 1 1.209731 b 0.08B12242 13.728 0.0001
SPEED 1 -0.296972 b; 0.04181721 =7.102 0.0001
LOAD 1 -0.009833 b 0.001159102 -8.256 0.0001
Predict std Err 5td Err Student
Obs MILEAGE Value Predict Residual Residual Residual
Y Y
3 24.8000 25.6566 0.344 -0.8566 0.649 -1.31%
2 30.6000 31.1093 0.263 -0.5093 0.6886 -0.742
3 31.1000 30.3261 0.248 0.7739 0.692 1.118
4 28.2000 27.8892 0.288 0.3108 0.676 0.460
9 31.6000 31.4331 0.356 0.1669 0.643 0.260
6 29.9000 29.0415 0.357 0.8585 0.642 1.337
7 31.5000 30.5623 0.208 0.9377 0.705 1.330
8 27.2000 27.1038 0.381 0.0962 0.629 0.153
9 33.3000 32.4272 0.340 0.8728 0.652 1.339
10 32.6000 33.5051 0.369 -0.9051 0.635 -1.424
11 30.6000 30.9469 0.431 -0.3469 0.595 -0.583
12 28.1000 27.2773 0.327 0.8227 0.658 1.250
13 25.2000 25.3010 0.483 -0.1010 0.554 -0.182
14 35.0000 34.6512 0.341 0.3488 0.651 0.536
15 2%.2000 29%.3231 0.236 =0.1231 0.696 -0.177
16 31.9000 32.9243 0.257 -1.0243 0.688 -1.488
17 27.7000 28.8526 0.223 -1.1526 0.700 ~1.646
18 31.7000 32.1185 0.425 -0.4165 0.600 -0.6595
19 34.2000 33.7663 0.280 0.4337 0.679 0.638
20 30.1000 30.2867 0.245 -0.1867 0.693 -0.270
Sum of Residuals -2.59348E-13
Sum of Sguared Residuals B.6415
Predicted Resid SS (Press) 12.7560

[ 4-10 5518088 SAS QOB HAR (FHERI m=4)




48 BWMESIRNBERIABEN

ASIEE RS R

ASEIEE R S

(mpg) (mpg)

Bl Xy Bl Y Xy
1 24.8 1.2 11 30.6 0.2
2 30.6 0.7 12 28.1 0.7
3 31.1 0.3 13 25.2 0.6
4 28.2 0.6 14 35.0 0.3
5 31.6 1.2 15 29.2 0.8
6 29.9 0.1 16 31.9 0.7
7 31.5 0.2 17 27.7 1.4
8 217.2 0.1 18 31.7 1.1
9 33.3 0.3 19 34.2 0.2

10 32.6 0.4 20 30.1 0.1

26

" T 10 meEEcnEmEa S

B | R 5 IM AR N EREE (2)
X,,°C | X5, 7T Eﬁ 0115M | 0057 M | 0028M | 0.01M 0.0025 M

25 1 3.85 1.89 0.5 - -
3 13.75 7.1 3.0 - -
6 34.6 154 6.4 - -
12 88.4 36.8 15.9 - -
45 1 19.2 11.7 4.4 2.6 1.5
3 76.9 39.7 16.9 10.8 3.2
6 152.2 77.1 36.4 14.6 5.2
12 220.2 100.2 49.3 19.3 5.1
65 1 101.5 41.0 154 7.1 2.9
3 139.8 113.0 44.0 9.4 4.0
6 228.0 100.0 54.7 17.0 4.6
12 276.7 100.0 54.1 26.0 4.7
78 1 112.6 49.7 27.5 - -
3 211.1 86.9 43.9 - -
6 265.9 112.9 48.0 - -

12 280.0 122.0 65.8 - -




F13-11 BoEMNZAMLH(m) REEQ(cms) ZHFW T !

kb2 H(m) | 0.00]0.49[0.78]/0.881.03{1.20(1.28]1.34|1.36(|1.51
& > Q(cms)| 9.8[15.3(23.1]29.8131.8140.2|46.2|49.8[/54.5| 61.0
H 1.55 1.76 1.86 1.92 21.0.
71.0 82.5 93.2 105.1 113.4
RLLQ=aH®+b BX , {FEEHERR T -
f2 - BH=08F»Q=9.8cms » HiEfRaxb =9.8cms
Q—-9.8=aH"
RE®  log(Q—-9.8)=loga+nlogH
4 log (Q—9.8) 2 logH&EHRREMTR:
28

el EEE AR TR T
1 6.1 0.7853 0.49 —0.3098
2 13.3 1.1239 0.78 -0.1079
3 20.0 1.3010 0.88 —0.0555
4 22.0 1.3424 1.03 0.0128
5 30.4 1.4829 1.20 0.0792
6 36.4 1.5611 1.28 0.1072
7 40.0 1.6021 1.34 0.1271
8 44.7 1.6503 1.36 0.1335
9 51.2 1.7093 1.5 0.1790

10 61.2 1.7868 1.55 0.1903
11 72.7 1.8615 1.76 0.2455
12 83.4 1.9212 1.86 0.2695
13 95_3 1.9791 1.92 0.2833
14 103.6 2.0154 2.10 0.3222
' £22,1223 £1.4764
o B {00E
4 1og(Q-98)=y, y= = 1.5802
14
logH = x sy X = 1'417464 = 0.1055
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‘ﬁL‘,LTEEJrE(Y_?) L(x=X),(y-¥)?, (x-X )R (x-X)(y-7):

o B Y-y x <X (y=%)% | (==F)*% | Ly~3)ix-3}
1 | —0.7949 | 0.4153 0.6319 0.1725 ©0.3301
2 | —0.4563 | 0.2134 0.2082 0.0455 0.0974
3 | —o0.2792 | 0.1610 0.0779 0.0259 0.0449
4 | -0.2378 | 0.0927 0.0565 0.0086 0.0220
5 | —0.0973 | 0.0263 0.0095 0.0007 0.0026
6 0.0191 | 0.0017 0.0004 0.0000 0.0000
7 0.0219 | 0.0216 0.0005 0.0005 0.0005
8 0. 0701 0.0280 0.0049 0.0008 0.0020
9 0.1291 | 0.0735 0.0167 0.0054 0.0095
10 0.2066 | 0.0848 0.0427 0.0072 0.0175
11 0.2813 | 0.1400 0.0791 0.0196 0.0394
12 0.3410 | 0.1640 0.1163 0.0269 0.0559
13 0.3989 | 0.1778 0.1591 0.0316 0.0709
14 0.4352 | 0.2167 0.1894 0.0469 0.0943
z 1.5931 0.3921 0.7870
30
u —
Xy ZEERERE
== r
gt Z(N_X“f) = 4 01‘43%: = 0.1737
vy 2EMERE
Sy = /Z(Nyj)z - /11459_3: = 0.3501
bzl REN
; SGE=X L (- ¥=F] _ 0.7870 o

N VE(x-X)R(7-7)% +0.3921 % 1.5931

_ S _
KA (13-78) :i@ﬁﬁﬁﬁﬁy-y=r--si(x—.x)

y —1.5802=0.996 0'173; ( Xx—0.1055)
B y —1.5802=2.0075 ( x—0.1055)
I y=2.0075% + 1.3684
A y=1log (Q—-19.8), x =logH

log (Q — 9.8) =2.0075 logH + log 23.36

31




" JEE
BBk 2 G HERS

Q= 23.36HZ"% 9.8
flist 2 EREERZE -
7=Sy v'1 —1%=0.3501 /1 — 0.996 = 0.0313
EEHEAZE TR

Y, =23.36H> """ +9.8 +0.0313 2 4a

MR B EE 25 4 :
r’ (N-2) 0.996%(14-2) 11.904
F= ~Saias — = = 1491
1-r 1-0.996 0.00798

HZE 13-6 ‘T‘%FO.UI(I, u=-2=19) =9.93
R 1491 > 9.93 » WHBHE — AEHEFSEZ -
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2o 1RV B A FE RSB AE Y LTA
B C D E
) 5 4 3 2 1
z 5 4 3 2 1
25 | 16 | 9 | 4 | 1 A 95
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STEP 2 :

SRR ) Y
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S 2 A 5350 - HF T 0 T IEA $0 4 455~35
El-
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STEP3:
(1) #-=[F155~354c2 @ § & (F35E45)  HBé ¥

& =% 18 10 ~ -10
(2 %f2 - By (e 2 £5E) & 5- R f
Bl 1~-12
T oldr g% 60 g 7
TitpMaeR 5 91~56
A A& 175~-175
EAREL s 1~-1
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X =7
g% | T ® =
A 6 5 8- .
[ ] [ ]
B 5 5 T S -
C 9 7 T ° Y =6
D 9 8
E 6 4 *
F 7 7 0 \ \ \ \ \
0 2 4 6 8 10
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X; = X; =X
Y, > Y -Y

S B XY L REB e AR - BEE B

LA F2Z A% B S e BRUIR L L AR

STEP2. £i*ipM B R
Bex - BRI APM R R R AT
(Xi _Y)'(Yi _V)
“f FARM R e s

Z(Xi _Y)'(Yi _V)
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STEP 3. ,ﬁﬁﬁmﬁ;l'“-l-i@
e X XM -Y) h ok i LaE
VX (=X b, -V )
ST YRS
VX (6 =XF -V
2]
Z (ai)z Z (bi)2 [Z (ai)(bi)]2
VX @)Y 6,) =Y (@ )b)

X b=Y,-Y

£ a=X-X

\/Z(Xi _Y)z '(Yi _7)2 2Z(Xi _Y)'(Yi ‘?)
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Xi X=X [x-Xf| Y, Y-V (Yi —\Z>2 (Xi —YXYi —\7')
6 -1 1 5 1 1 1
5 -2 4 5 -1 1 2
9 2 4 7 1 1 )
9 2 4 8 2 4 4
6 -1 1 4 -2 4 )
7 0 0 7 1 1 0
X=7 YX-Xf=14 |Y =6 S v =12 (%, =X )Y, -¥;)=11
X=X -Y) 1

r= -
VE (X=X (1Y) V142
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2 Z (YAi ~Y)? Sum of squares due to regression
r= Z (Y, - Y)? ~Sum of squares corrected for mean
_ YARRIEEFEXELE RS EEE L R
YRR E i % 2
]
P> | 10 | 11 | 12 1 2 3 4 5
MAX | 494 | 382 | 272 | 286 | 295 | 46.4 | 49.7 | 57.1
L AT
;opy | 520 | 610 | 870 | 850 | 880 | 490 | 450 | 250
r’ =0.966 (r =-0983)
AT AR S H97%2 R T U B EE R DD SR I R RP
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